N\

{

ELENCO COMPONENT! DI UN PAIO DI PORTE

o

2 crossbar;

L post;

L upper support;

L lower support;

L upper supports reinforcements;
2 crossbars for lower supports;

L caps diam. 80 mm.;

66 (+2 di ricambio) anchors for net fixing;
L insert:

20 screws M8x20 r.h.;

8 screws M8x45 plane head;
16 screws M8x25 plane head;
24 washer 8 mm.;

2L nuits M8,

<] o o © [+] ] ) o o o [+} o

o

D DD oD 3332 D D DI 3 3 D D2 Do

Holes to fix futsal goal in the ground with
appropriate anchors (not included)

VIVISPORT

atitrezzature sportive

ALUMINIUM FUTSAL GOAL 4X2 M. - PORTABLE

Art. 6028

Data:

. . Pagina: 1/3
Aggiornamento n°® 0

DQueste cuegne € o propretd gelle Vivispost Set £ vierata 1a npeecenene terde ¢ parnde Senld Lotorilrinone




Insert

N

plane head

N° 4 screws M8x25
plane head

N° 4 screws M8x25

A

Cup ¢80 mm.

Insert screws into the slot as drawing
below

n-4 screws M8x20 r.h for crossbar
n-6 screws M8x20 r.h for post

Cap has to be applied after all the
screws have been inserted into the slot.

—
=

VIVISPORT

attrezzature sportive

ALUMINIUM FUTSAL GOAL 4X2 M. - PORTABLE

Art. 6028

Data:

Aggiornamento n°® 0

Pagina: 2/3

Guesto Gsegne & @ prepoiets ells Vivsport Se0 £ wetatd 1s nprceuniene toldie & pacnale 50013 fut




\\\Screw M8x45
washer ¢8
Nut M8

Nut and washer M8

Screw M8x45

Holes for ahchoring the /
door fo fthe ground via - ' e
plugs (not supplied)
= ALUMINIUM FUTSAL GOAL 4X2 M. - PORTABLE
v l tye!z§rgp9 veRT Arf. 6028 iag:(;rnamenfo n° 0 Pagina: 3/3

Questo Giaegno & o proprietd detta Viwspert Sri € vietata ta riprofuzions tolale o paczile senza autorzancne




